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QUESTION NO: 1

Integrated Development Environment helps you to develop, test, and build an application. Which option is an IDE tool that 
can be used with Cisco Spark?

A. GitHub

B. OSX: Atom

C. Windows: Notepad ++

D. Linux: Brackets

E. Pythonanywhere

ANSWER: A 

QUESTION NO: 2

Where in the TMS application does an engineer add individual endpoints or infrastructure to the TMS database?

A. System > Navigator

B. System > System Overview

C. System > Provisioning

D. System > Manage Dial Plan

ANSWER: A 

QUESTION NO: 3

On which two operating systems and database applications does TMS rely? (Choose two.)

A. Oracle

B. MS Access

C. Windows Server

D. SQL
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E. Linux Ubuntu

ANSWER: C D 

QUESTION NO: 4

Which option governs the order in which the search rules query the local zone versus neighbored Expressways?

A. priority number

B. call processing order

C. call policy

D. target zone

ANSWER: D 

QUESTION NO: 5

Which two options are call-control devices in a Cisco Collaboration environment? (Choose two)

A. Cisco Unified Communications Manager

B. Cisco Telepresence Endpoint

C. Cisco Meeting Server

D. Cisco Expressway

E. Cisco Content Server

ANSWER: A D 

QUESTION NO: 6

Which two primary protocols does TMS use to communicate with endpoints and infrastructure? (Choose two.)

A. BFCD

B. SIP

C. HTTPS
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D. H.323

E. SNMP

ANSWER: C E 

QUESTION NO: 7

Which two statements about subzones are true? (Choose two.)

A. Endpointsare assigned to a particular subzone by their alias or IP subnet.

B. Subzones require the use of endpoint authentication

C. Subzones are used for routing calls to peers in other parts of the network.

D. Endpoints require the use of other endpoints for authentication

E. Subzones are used for bandwidth and authentication control of a logical grouping of endpoints within the registration list of 
the Expressway

ANSWER: A E 

QUESTION NO: 8

Which two protocols are used in the traversing of media across a firewall through the Expressway? (Choose two.)

A. Assent

B. H.460.18/19

C. SIP

D. H.239

E. H.323

ANSWER: A B 

QUESTION NO: 9

Which statement about the deployment of Cisco Conductor with Cisco Telepresence Server for

Rendezvous Conferences is true?
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A. Conductor must be added to the TMS database.

B. A SIP trunk must be established between Conductor and the TelePresence Server.

C. A neighbor zone and search rules must be built between the Expressway and the Conductor.

D. A neighbor zone and search rules must be built between the Expressway and TelePresence Server.

ANSWER: C 

QUESTION NO: 10

Which type of customization options are available on the Cisco Meeting Server?

A. customizing protocols used

B. branding spaces

C. customizing aliases used

D. branding the WebRTC clients

ANSWER: D 
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